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QAEMEHAT(AE, BN, 25, MX)
1,000, 00024+16021 160,000
OSHE T AT(EHS, A0 AIS)
1,000,00024+10024 100,000
OAIEEAZ(AIR) 1,000,0002%5021 50,000
S 240 2A8HA)  600,000215021 90,000
OOl DA L A1s 62,100
0® Al LA 90, 00024460074 54,000
0alE M2l 2 54,0002+ 15074 8,100
OF4A1E X2 29,000
0548 220 BAH 8,000,00024+23] 16,000
0F S FHI(MSD] QWE) 24
650, 00021#47H 453 13,000
OM4E AIME 24 U 2K 232,600
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SA:
X XH -
(e

o
chel:

HEE

SN - FE - SR(3]H) - NRAR - BaS il &k o HimE==1
052 NEEx 15,000, 000 2=30f 2= 45,000
OAIDEXI Hi48l &% 2 IH
1,500, 00021%207H 4 30,000
02204 BIH0IS QIABAF
1,000, 0002410021 100,000
0STEA, BI4X S Ha
8,000, 000243HA+23] 48,000
0B4FQUI(Z2AT) Ml 800,000+ 9,600
OBSAIL BATO AIAE 23 8,000
0SAIAE KO A2E DA
1,000, 000215874 4 8,000
ORILALE 22 J|&REH| (L2 E1)
20,000, 000215374 4 60,000
OSEH DHBAM 35701 4:+700, 0002 24,500
ONBEXLALSE AILS THHAI
294,000, 0002114} 294,000
OSHETLASE AILS THHAI
28,000, 0002114} 28,000
OR4E ALS B 50,000
04X ABHESHER| HH(AFLI L)
10,000, 0002 10,000
0= 212ED| Ax| 200, 000215200 40,000
OUS 2 ST Hh4Kl HSwe HX
20,000, 0002 20,000
ONEZAT +BNSEZI| LX(HIXSS
Hel 321) 70,000, 0002 70,000
ORIZASE HUF MR, B4
) 50,000, 0002414} 50,000
OZHS IEXIT JIrE SXITA
60,000, 0002414} 60,000
OE 7 Z4F HIAS SYILIIBAL
700,000, 0002414} 700,000
03 Al THH] 5,628 3,507 2,121
O2. B4R 26 o 44 82 I
1,563,200, 000210.36% 5,628
405 XHAHESHI 2,500 32,900 230,400
A ESF =S| 2,500 32,900 230,400
SLIEEIIES-] 750, 00021527 1,500
OMTH T2y 1,000,00021* 14 1,000
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H & 0l & At H A M

SN Aot
X XH -
(e

o
chel:

A - B O9(3H) - NIRAR - BaS Ol &b e e

&5t EANE A 6,505,457 7,926,000 1,420,543
2,774,000
1,493,797
189,257
,048,403

X

, 774,000
,493,797
189,257
,048,403

2

otk 6,505,457 7,926,000 1,420,543
2
1

X

SR (S RN HSE

ton

, 774,000
,493,797
189,257
2,048,403

2

Al 6,505,457 7,926,000 1,420,543
2
1

X

StHMelAE(S3oteE 29) 2,200,000 2,150,000 50,000

780,797
,419,203

S

HJ

201 LEk=2EH| 650,000 650,000 0

105,079
544,921

H X

S=2gH| 650,000 650,000 0

SR
250,000, 0002 250,000
75,079
174,921

X

O DiSdt=HMeld sS4l L MH|(45004)

400,000,000 400,000
30,000
370,000

H X

307 212+0I1A 1,550,000 1,500,000 50,000

675,718
874,282

X

05 eIZtRE= 1,550,000 1,500,000 50,000
O BEot=HelAlE 2c|th&d|
1,550,000,000& 1,550,000

675,718
874,282

S

HJ

Slexeld SE(ME B4) 1,143,700 698, 000 445,700
814,000
209,000

58,500
62,200

M X

401 AlZHIZSOYI 1,143,700 698, 000 445,700

814,000
209,000
58,500
62,200

X

I

)

N
I




SN doteZ AR A
I o=l
Et2l Sl XA (EINESESIAH) (S &)
L5
SA - BB BRI(3) - IRAY - BES ofles e HIDZ
01 AlIZH| 1,139,582 393,602 745,980
O&EZSIot=HMElAEEL ALY
1,139,582,000& 1,139,582
= 814,000
p) 209,000
[ 58,500
= 58,082
03 Al& 20 4,118 4,398 A280
Ot B Sot=HelAESEAE 20l
1,143,700,000&+0.36% 4,118
sHEOSoEEH|(AEXIF) 2,762,757 429,000 2,333,757
= 1,960,000
p) 504,000
[ 130,757
= 168,000
401 AIZHIZ R0 2,762,757 429,000 2,333,757
= 1,960,000
p) 504,000
[ 130,757
= 168,000
At 2,752,811 425,911 2,326,900
O AHEX+ SSot+xelAE 2XIA
2,752,811,000& 2,752,811
= 1,960,000
p) 504,000
[ 130,757
= 168,064
03 Al 20 9,946 3,089 6,857
O AEX7 S3otxelAld EXIAME S0
2,762,757 ,000&%0.36% 9,946
StHelAME (B30t 2 2 21227) 380,000 470,000 290,000
307 elztold 50,000 50,000 0
05 2I2tRAE= 50,000 50,000 0
O &3ot=xclAld 2a=+8l 50,000,000 50,000
401 AIEZHIZ R0 330,000 420,000 290,000
01 AlIZHI 330,000 420,000 290,000
O &2 otk eI
250,000,000 250,000
O dHESg2cIdiE RAE=4] 80,000
0 St=RIN =AI2= 40,000,000& 40,000
0 AZEN T2 40,000,000& 40,000
30tk 2N 19,000 0 19,000
207 AR 19,000 0 19,000
01 ¢2+1E9H] 19,000 0 19,000
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